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Question Number : 1 Question Id : 39226612121 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify correct answer regarding persons and Titles

1, Chittaranjan Das a. Desa Bhakta
il Nyapathi Subba Rao b. Desa bandhu
1.  Konda Venkatappayya £ Andhra Bheeshma
iv.  Duggirala Gopala Krishnaiah d. Andhra ratna
SySen Ao KowoRoN WIN VErEPNo H8ouod.

i dsond TR a. Oy

i S8 ey b. TF 20&b

iii.  $Tom Joxed)ay c. ol IRy

= 4 --E;s_-“}_‘,:{ e 2 | }‘{./
iv.  Sofcre Aareyadiy d. s0|$ ¥

1. i-a, 1-c, 1ii-b, iv-d

2. i-b. 1i-c, iii-a, iv-d

3 1-b. 1-c, 1i-d, 1v-a

4. i-c, 1i-b, iii-d, iv-a

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 2 Question Id : 39226612122 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Find the Correct pair

1. Dr. S. Radha Krishnan — India’s Second Vice President

2, Babu Rajendra Prasad — India’s Second President
3 Babu Jagjivan Ram — Contribute to Green Revolution
4, Dr. Baba Saheb Ambedkar — India’s Second Law Minister
VoS =BD 0N w000
1. &R, CETERS - wPESBEY DOES SXTEHS
2. e CROGEIE - wr8SEy BoGs oRRS
3. rar sigSscod - 08 IPIINI BIEB0T
4. o s eoBE) S - arEEty Boss TgEP 208
Options :
1. % |
2.% 2
3.¢¥3
4.% 4

Question Number : 3 Question Id : 39226612123 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Regarding IPL.-2025 season, choose the correct answer

1. Orange cap a. Suryakumar yadav
1l Purple cap b. Sai Sudhasan
1. Man of the series i Krunal Pandya
iv.  Player of the match
IPL-2025 final d. Prasidh Krishna

IPL-2025 deS esgrom $BS DIFES0 KDoS0s.

1 es508 S a Ku'-'fﬁsﬁawg
1. ‘édzggé = b. rovOTrS
. 508 =5 & 285 C. 5&@*5#05&5

iv.  IPL-20253568° 2608
[

B o~ - N )
e & JSS d. @Nim: 58
1 1-a. 1-b. m-c. 1v-d
2. 1-d. 11-c, 1i-b. 1iv-a
3 1-b. 11-c, 1i-a, 1v-d
4. 1-b. 1-d. m-a. 1v-c
Options :
1. % 1
2. %2
3.%3
4. 4

Question Number : 4 Question Id : 39226612124 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Asynchronous coded Electronic skin is developed at

o005 5G& JogE S8 0 & wHSY D>t

L. National Umiversity of Singapore, Singapore
2 Tata Institute of Fundamental Research, Mumbai
3. N real — A Chinese start up, Beijing
4, Massachusetts Institute of Technology. Cambridge
Options :
1.¥ 1
2. %2
3.%3
4.% 4

Question Number : 5 Question Id : 39226612125 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct pair from the following regarding posts and
persons

1. Present UGC Chairman a. Ganesh Kumar
ii. Present Attorney General b. Dr. Vineet Joshi
11, NITT Aayog CEO ¢. R. Venkata Ramani

1v. Chief Election Commissioner d. BVR. Subrahmanyan

S§5e0-FRo0 100D 308 TIS” VO BSHBAS B

B0k,

i (9 UGCBES a. oPIR 0Irs
(5008 etrd) u38S b. & IS A

iii. 08 &k 2.3.5 c. esb. Joseying

iv. (BES IYTe SRSE d. 2.2.e58. Roeiryeso
1. 1-a, 1i-c. ii-d. 1v-b

2. 1-b. 1-d. 1-a, iv-c

Tl

1-b. 1-c. 1i-d. 1v-a
4. 1-c, 1-b, 1ii-d, iv-a

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 6 Question Id : 39226612126 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correctly matched pair

a. January 12 - International Youth Day
b. March 8 - International Women's Day
e December 20 -  National Human Rights Day
d. June 21 - International Yoga Day
WV DAEES0 o0k,
a. =338 12 - ©oSgdaH csos BSB)o
b. 5r0)8 - ©odTdah Hiree B3 E)s0
c. &lowb20 - AH IS5 Ty BSE)N0
d =521 - ©oSzdcah S B SN0
1. a.b
2 b e
3, b.d
4. a.d

Options :

1% 1

2. %2

3.¥3

4.% 4

Question Number : 7 Question Id : 39226612127 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding Folkdance and state

1.  Sohar a. Karnataka
ii. Tippani b. Thripura
i11. Batukola ¢. Bihar
iv. Sangraing d. Gujarath
EPSHE é;,@y:o-c“@;@_g 020800 JIBS ‘&mwm%
aSleleInlele
i P56 a. SOy
= Fus s “
i &) b. | @H%
ili. enesrSle c. Hss
iv. HoyTonoR d. rozmoeS
1. i-d, ii-c, ii-b, iv-a
2. i-c, 1ii-d, ii-a, iv-b
3. 1-a, 1-b, in-c, iv-d
4. i-d, ii-c, iii-a, iv-b

Options :

1. %1

2.¥2

3. %3

4. % 4

Question Number : 8 Question Id : 39226612128 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The operation launched by the Central Government with an
aim of termunating Maoists and Left wing terrorism in
Chhattisgarh

1. Operation Akarsh

2. Operation Faith
3. Operation Maitri
4. Operation Kagar

—

ogson Z0|F0 (E0HODST e5BTAS

SBRES” 505 onge, TRNE BSTE) dEsegonEh

¥ sHBRS egg
7 &5‘5}@‘5’15 ?.}cmg
3.  oSaAS @
4. 35838 g8
Options :
1. %1
2. %)
3. %3
4.9 4

Question Number : 9 Question Id : 39226612129 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct answer

a. Mahatma Gandhi — My Experiment with Truth

=3

L.K. Advani — A Prisoner’s Scrap Book
Morarjee Desai — The Story of My Life

=

Jawaharlal Nehru — Discovery of India

VBN VIS0 Mfotok.

o

S0P yTol - Fo IEWOI0S IS (LS
b. S E. P;E!CJ'ZS;%J -2 @}8555‘:] &) e
c. oo dedd - 0 ¥ ed P T

d  =5;bord I - GX) 0 &5 goddir

1. b.c.d
2 0 T
3. a.b.d
4. a0

Options :

1. %1

2.¥2

3. % 3

4, % 4

Question Number : 10 Question Id : 39226612130 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct answer

a. Medical Research — Yellapragada Subbarao
b. Technological Research — M.S. Swaminathan
g, Fine arts — Dwaram Venkataswami Naidu

d. Software development — Satya Nadella

A

B Drgrso Kododod.

2 PEGTR DOTEK0 - JBRE D020
b. oK $08%Ten - 6Ho.ahl. J;WITES
i o8¢ Eden - 5360 505&333&3 T30

d 336 DY - BeS§ TBY)

I a.be.d
2 b.c.d
3 a.c
4. P.Cod
Options :
1. % 1
2. % 2
3. % 3
4. 4

Question Number : 11 Question Id : 39226612131 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



India — Malaysia joint military exercise is called

1. Desert Knight

&, CINBAX
3. Harimau Shakti
4. SLINEX

30&c5-HB AT &X0)E PIY DT D

1. @5
2.  CINBAX

3. Sasmy 8
4.  SLINEX

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 12 Question Id : 39226612132 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Mivazaki’ is a
1. Development of forests in a small place
2 Naturopathy method

High price mango

L)

4. Mobile manufacturing company

‘0TS’ 95058

L 895 (0§08 esPo DoDHE0
2, @5)8 S5 Jerao

3. 2835 srod 8%o

4. 3PS Saird Ko



Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 13 Question Id : 39226612133 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following Railway zones with their Head Quarters

1. Eastern railway

ii. Northern railway

1. Southrn raillway

1v. Western railway

BHE VoD T B

et =
-]

S0 13

1 1-b. 1ii-a
2 i-d. 1ii-b
3 1-d. 1i-c
4. 1-b. 11-d.

Options :

1. % 1

2. %)

3. % 3

4. 4

Question Number : 14 Question Id : 39226612134 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

111-d,
ii-a,
111-b.

1ii-C,

TS0

&

1V-C
1vV-C
1v-a

1v-a

Correct Marks : 0.5 Wrong Marks : 0

a.
b.

=N e

Mumbai
Kolkatta
Chennai
New Delhi



25™ International Indian Film Academy (IIFA awards-2025)
award winning film

1. Animal

2. Dobhighat

3. The Ninth Wave
4. Laapataa Ladies

255 30063456 30500 »do ey (IIFA awards-2025)
e:;“ti& FodS Do

L DS
2. S DpeS
3. &3 ID
4. PR BER
Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 15 Question Id : 39226612135 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct matching regarding schemes and it’s

objectives
i.  Deen Dayal Uapadhyaya
Grameen Kaushal Yojana

1.  Pradhan mantri Gram
Sadak Yojana

iii. Rashtriya Gokul Mission

1v. Pradhan Matri Mudra Yojana

a.

C.

d.

Provide connectivity by
way of our weather

Convert Indian’s demo
graphical surplus into
demographical dividend

Provide access to institutional
finance for micro business

Conservation of indigenous
breeds.

0 - TR OFFO KHO0D KO BEBOAS TID HHYOSS.

i 55&&?5%@”@54:5: (e a.

il (Perssool® (e Dk

iii. ofa% AHE 18§

V. @DerS Sool@ Suor Sres
1 1-b, 1-c, 1i-d, iv-a
2 1-b, 1n-a, m-d, iv-c
3 1-a, i-b, 1i-d, iv-c
4. i-d, 1-b, i1-a, i1v-c

Options :

1. %1

2.9

3.% 3

4. % 4
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Question Number : 16 Question Id : 39226612136 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Winner of 2025 TATA Steel Chess Tournament

1. Winsent Kemer

1o

Dommaraju Gukesh
Pragnananda

4. Ritwik Choudhari

2025 ererhS B8 Y200l B

8]

i 3}5“}05 35,8

2 &0 oer KIER
3. @’m;aﬁocﬁ
4, a@SE S ina)
Options :
1% 1
2. % )
3.9 3
4. % 4

Question Number : 17 Question Id : 39226612137 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct answer

a. Motion Picture Cinema — Thomas Edison
b. Dynamite - Chadwick

C Logarithms — John Napier

d. Crescograph —J.C. Bose

WV DAIrgrSo Kook,

a. Re) &535 DS - TS AEBS

Sl

b. G - 9&55

pé

C. @ﬁgéjgsd - 28 3had
d. EFrS - 2550

i 4. d
2 g.é:d
3. b.d
4. a.b.e.d
Options :
1. %1
2.¥2
3. % 3
4, % 4

Question Number : 18 Question Id : 39226612138 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The name of the Airport in Ayodhya 1s

1. Sadhvi Sita International Airport

2, Hanuman International Airport

3 Lord Shri Ram International Airport

4, Maharishi Valmiki International Airport
SEr SHE0S™ (IS0 D>

L > NG Fo6T)ANS JooobFG

2 RIS FOLORSS JandAG

3. o8 3o 30083056 JonbFG

4 S0 )3 06B)ATS JodPG

Options :
1. % 1
2. %2
3.%3
4.¥ 4

Question Number : 19 Question Id : 39226612139 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Find the incorrect one
1. Karataka — Ancient Uparkot was built by the Mauryas

2. Andhra Pradesh — East coast have nesting ground of
Sea turtles

3. Tamil Nadu — Meenakshi temple was built by Pandvas
4, Assam — Tezpur city 1s called city of Blood
¥R I Ko sodk.
L SgeX - S5 (D5 &565° 5 18 0T
jar ]
2. eo@Has - Er) BY (Fogod” vinlE B
WSt 552_‘]@:‘ &0,
3. SWITE - Fodoges WG BT IBYOTE
4. e - &Y SKo @ BFYeE SKo°R) Deoth.

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 20 Question Id : 39226612140 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Carnatic Music : M.S. Subbulakshmi : : Hindustani Music :
1. Dr. Sheik Chinna Moulana

2. Zakir Hussain

3. Ananda Mohan Bhagawati

4. D K. Pattanunal

Kome¥ VOGS : 650,058, wwned) boﬁréﬂ;ﬁ)

BoRessw
; . a5 DY) Srera
2 o5 ¥ ?on}g
3 35508 DovrS e RS®
4 &3, Herso &5
=]
Options :
1. % 1
2.9 2
3.% 3
4. % 4
Section 2
Section Id : 392266381
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266396
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 39226612141 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



World class Indian mstitutions set the highest standards of
multidisciplinary teaching and research and hosted scholars
and students from across backgrounds and countries.

Find the name of the mnstitution which 1s not in the list of
NEP - 2020

i Nalanda

2 Takshasila

3. Vallablu

4. Kanchi

0¥ INAH IS, VOFUIS T wES (HIreros
OF')S [HH0BF 0w 2PBBA IIrgHoges VG Inergew,

ed

SeroH ToOS ATFOOH, RO B0 30 20AB.
208 78° 53 o505 NEP — 2020 &e5:000D T AT N

S
1. IN{Slelnt
2. axge
e,
& ég}_}é}
4. ¥od
Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 22 Question Id : 39226612142 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Right to Information Act was enacted during the
tenure this Prime Minister

; 8 A.B. Vajpayee

2 Narendra Modi

Dr. Manmohan Singh

4, Rajiv Gandhi

A DT WL S&0, B2 (B0
08" &0 Dodedod.

LS

1 d. . PEoaw

2. SOo|E3&
8 =i 05359&‘53“5 HDOA
4. oB8mob

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 23 Question Id : 39226612143 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct matching pair

a. Lok Jumbush - Rajasthan

b. Ekalavya - Madhya Pradesh
E. ‘a’ correct

2. “a’ correct but *b’ 1s not correct

3. ‘a’ and “b” are correct

4. "a’ 1s not correct but ‘b’ is correct

DO 2HDBII TR B0S06.

a. S°5 moenR - D‘E@;g
b. ' SoSg - 53&55@55
1. ‘a’$psd

2. 4 HBs8 TR b’ $BNO T

3. 2 mod» b $Bsd

4. ‘2 SPIO T T ‘b’ $PSO

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 24 Question Id : 39226612144 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The percentage of a child’s cumulative brain development
occurs prior to the age of 6 years, according to NEP - 2020 1s

i Over 65%

2. Over 75%

G Over 85%

4. Over 90%

NEP - 2020 (3s~%0 Eagaﬂﬁ)o";mﬁgr POV I eéjsigga
FTE0 6 VOIH)TOW 00T o FTEO &0enod.

1. 65% P
2. 75% pre
3.  85%
4. 90%

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 25 Question Id : 39226612145 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify correct statements regarding Naturalism

a. Priority should be given for direct experiences

b. Priority should be given for natural discipline

€. Less priority should be given for cultural activities
d. Priority should be given for co-education

BE® 5708 H0000d B[S PIBT D KBTS0k,

a. (DecE Do 1\23“‘:5“;55&3};53@
b. =

TEDGRT (FDBERD (FTHEEITIO

,::,Q_

e ifﬁoﬁz’_ fHx 3“65 ¥Sme) c:é’.*_‘i:ab_;‘j @"‘:}“559‘_‘63}53@

d. ﬁ@g}cﬁsﬁa @“:3“5559‘_633;1'5@.
1. a.b
3 b.c.d
3. a.b.d
4, b.d
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 26 Question Id : 39226612146 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify correct statements regarding child Rights

a. Government of India accepted Child Rights convention
on 1992 December 11.
b. International court of justice accepted Child Rights

convention agreement on 20.11.1989

.

Child Rights convention agreement contains 54 articles

Article - 45 of Indian Constitution stated that Government
should provide free education for children below 14 years

EPOO ) 0% 0020800 KIS Tseien HYoWods

a. 1992 &2o0208) 115 oo T © 2.ti028 5050
2T°5 65 l\;’ne;ﬂ:;e‘_@so ©oA%d0d08

b. 2P ‘;‘Fﬁzzre: 2.GE0DGESD @Deﬁﬂ;@dﬁ: Tsdi:;%c;c‘éo
20.11.1989:5 es3E0008.

C. 2O ‘Lﬂﬁ:lrea o, E0AESs niondisS® 54 l:_é.’aﬁt]’taau: ea“;)cw
d  rEes Gﬁ@;ohoéﬁ &30S - 45, 14 Yond"y wreod
@’32:539350 &des E;)c;{ac) ©080Ted 'fa@'“Joﬁ.
1. a.b.d
2. 3 c.d
3 boc.d
4. a. d
Options :
1. % 1
2.¢2
3. %3
4, % 4

Question Number : 27 Question Id : 39226612147 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



At ECCE level. NCF — 2005 has laid more have emphasis on

I, Universalisation

2 Health and Hygiene

3. Holistic Development

4. Preparing children for Primary Education

ECCE and® NCF 2005 8 & 350,35 Sy 8308
1L @580

2.  e&8Kgw, BB
3. D edH
4. QoD (FFDE IFGH SErHBAES
Options :
1. %1
2.%2
3.¥3
4. % 4

Question Number : 28 Question Id : 39226612148 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0



Choose correct pairs of commissions and their aims

Education for Democratic
Citizenship

a. Secondary education commission

b. Kothari education commission Education for modernization

New education policy - 1986 Education for all

d. National Education Policy - 2020

Focus on Early child

education
SRS T Bgeiren H02050D ¥PS sEomd A
Ho80ou0é.
a. DFo&Ed o ] . @F@‘jw& %‘umwﬁso %0 5}6:5
b. £o8 Qﬁé:;f;"g xhynS - esddEsmE%0 ”‘&:S
C. XrsS ITATT0 - 1986 - @0m50S IEG> woBOSEO
n e 2 e 2y 9,
d. $5oedsas QJC.‘FQEJC.:" o - 2020 - C’S@‘Cgb%ﬁ S“éi ci:;ﬁ&
So|Q¥8oBEo
1. %.b. € d
2
B a
4. - 0
Options :
1.¢¥1
2. %)
3. % 3
4. % 4

Question Number : 29 Question Id : 39226612149 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Match the articles of Right to education act with their concepts

1. Article - 10 a. Curriculum and evaluation process

1. Article - 14 b. Proof of age for admission

1. Article - 21 ¢. School management committee

iv. Article - 29 d. Responsibilities of parents and guardians

g 5808 Ko eESH 58 PrESed® BEdssod.

i eQ¥S-10 a ITYReTdY 00 SreiosS AT
ii. 055 -14 b ($3%0 5%0 I |GodESE
Px N Y,
111, &5255- 21 C. FEToo Mﬁw‘?&ﬁs DoPTren
iv. &0¥5-29 d SQEoen, HoSKHe Wi
e . L= 2
1. 1-d. 1-a. 1ii-b, 1v-c
2, 1-c. 1i-b. 1i-a, iv-d
3. 1-c, 1-a, 1i-b, iv-d
4. 1-d. 1-b. 11-c. 1v-a
Options :
1. %1
2. %2
3.%3
4. 4

Question Number : 30 Question Id : 39226612150 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This committee commission submitted its report with the title
‘Learning to do’

1 Dr. Malcom Adiseshaiah Commuttee
4 NPE 1986

Ishwari Bhai Patel Committee

(a2

4, Kothar:i Comumission
BYOR &n & 9o %%—L‘@E €8a5 a@ﬁgﬁ: 908005 ¥ /
SHTRY

1. foeal) ;5::1@.:3)_0 e:s&'rﬁt.’:_ciias K053
2, JDdg - 1986
3. ée%éa?m} BES ¥

4, o0 ¥hhas

Options :

1.¥1

2. %)

3.% 3

4. % 4

Section 3

Section Id : 392266382
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266397
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 39226612151 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the incorrect answer related to Psycho analytical
theory and Defense Mechanism

a. Dynamic aspect - Id. Ego. Super ego

Conscions. Sub conscious.
Un conscious

b. Economic aspect

Eros. Thanatos

o Topographic aspects
d. Defense Mechanism - Simple Denial. Aggression
SHI VA VETOBO BN TEE Ho(GroH H0w0Lod $II

—

K:.;s:vcs“mc?b Mook,
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Question Number : 32 Question Id : 39226612152 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the correct answer from the following

a. Insightful learning - A student suddenly find out
solution for Maths problem
b. Observational learning - A child claps after seeing
others in a Birthday party
g. Experiential learning - A child feels hungry on

hearing the school lunch
bell
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Question Number : 33 Question Id : 39226612153 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The symptom of stress among the following is

L, High concentration
2. Over eating

3. Peaceful sleep

4, Estimating others
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Question Number : 34 Question Id : 39226612154 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Teacher gives reinforcement for every correct answer given by
the child — This 1s called

g Fixed Interval Reinforcement Schedule
2. Confinuous Reinforcement Schedule

3. Fixed Ratio Remnforcement Schedule

4, Variable Reinforcement Schedule
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Question Number : 35 Question Id : 39226612155 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Sequential order of stages in the process of Memory
L. Encoding-Retention-Retrieval

Z Retention-Encoding-Retrieval

LS

Retrieval-Retention-Encoding

s

Retention-Retrieval-Encoding
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Question Number : 36 Question Id : 39226612156 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The transfer of learning that takes place in a person who is an
expert in swimming. learns Computer education

1. Zero transfer
2. Negative transfer
3. Positive transfer

s

Bilateral transfer
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Question Number : 37 Question Id : 39226612157 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to Piaget child converts as a reflective organism
from reflexive organism in this stage.

1. Pre operational stage

2. Sensorimotor stage

3. Pre conceptual stage

4. Formal operational stage
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Question Number : 38 Question Id : 39226612158 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0



A boy goes to Karate classes every day on his own, without
the encouragement of others. This shows his

1. Aptitude

2, Concentration
3: Interest

4, Ability
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Question Number : 39 Question Id : 39226612159 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Correct set of intelligence types proposed by Gardner

L Spatial. Mechanical. Linguistic, Inter personal
Intelligences

2, Intra personal. Musical. Visual, Body kinesthetic
Intelligences

(4d

Spatial. Naturalistic, Social, Logical Intelligences

4. Linguistic, Musical. Spatial. Logical-Mathematical
Intelligences
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Question Number : 40 Question Id : 39226612160 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Formula for class interval is

1 Frequency
' Range

5 HighestValue
' Frequency

3 Range

No.of Classes

Lowest Value
No.of Classes
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Sub-Section Number : 1
Sub-Section Id : 392266398
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 39226612161 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This planet has the least rotation time among all planets in the
solar system

1. Jupiter
2 Saturn
3 Neptune
4, Uranus
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Options :
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Question Number : 42 Question Id : 39226612162 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



It 1s the Medicinal plant that found only in India which 1s used
to treat Blood Pressure

1. Kachnar

2. Sarpagandha
3. Arjun

4, Tulsi
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Question Number : 43 Question Id : 39226612163 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the incorrect statement regarding Deccan plateau

.. It 1s the oldest plateau

2. It is a lava plateau

3. River Ganges and Indus are flowing through this
plateau

4, The larger part of Rayalaseema comes under this
plateau region
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Question Number : 44 Question Id : 39226612164 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



‘Majuli’, the largest inhabited riverine Island in the world is
located in this River system

1. Nile

2. Indus

3. Brahmaputra
4. Amazon
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Question Number : 45 Question Id : 39226612165 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the correct statement given below

a. Polar star indicates the North direction

b. The inner planets are small in size and are composed
of rock

G The surface temperature of the Sun in around 6000° F

d. The shape of the Earth is described as a Geoid.
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Options :
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Question Number : 46 Question Id : 39226612166 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In the Northern plains of India “Mahawat™ refers to

1 Winter rainfall
2. Hot Winds
3. Summer rainfall

4. Cold winds
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3. %3
4, % 4

Question Number : 47 Question Id : 39226612167 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This region does not comes under Thungabhadra River basin

1. Upper Catchment area in Kamataka

Z. Lower Catchment area in Maharastra

3. Middle Catchment area in Karnataka

4. Lower Catchment area in Andhra Pradesh

HI0KL|T 5O BETE (oI ToSI

L Sooel &' s B8y (Frogo

2. LTRSS OrS B8y |@roso

3. Sgwy &N S w8 |Froso

4. SoFHBES’D BKS BT WY |Froso
Options :

1. %1



2.¢2
3. %3
4. % 4

Question Number : 48 Question Id : 39226612168 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The theory about the origin of universe from the following is

1. Geocentric Theory
Z Heliocentric Theory
3 Big bang Theory

4. The Nebular Hypothesis
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Question Number : 49 Question Id : 39226612169 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A table that 1s seen in any corner of the map with symbols or
tools used in the map to explaine briefly and understand or
mterpret the features of the map is.

1. Patterns
2. Legend
3. Colours

4. Latitudes and longitudes
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Question Number : 50 Question Id : 39226612170 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Equatorial climatic Region with dense forest is called

1. Taigas
2. Savannas
3. Steppes
4. Selvas
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Question Number : 51 Question Id : 39226612171 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Kethavaram Rock Art site 1s located in this district

1. Kurnool

2. Kadapa

4 Ananthapur
4. Nellore
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2. %)
3. %3
4. % 4

Question Number : 52 Question Id : 39226612172 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Regarding Kakatiyas period identify the correct statement
given below

a. Kakativas were also known as “Andhra Rajas’

b. They imposed Addapattu Sunkam on forest products

i

At preset Motupalli inscription 1s in Palnadu District

=

Nrutyaratnavali written by Jayapasenani describes the
dance styles that were reflected in the sculpture of the
Ramappa temple
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Options :
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Question Number : 53 Question Id : 39226612173 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Arrange the dynasties that ruled the Vijayanagara Empire in
descending order according to their ruling period.

1. Aravidu. Sangama. Thuluva. Saluva
2. Sangama, Saluva. Thuluva, Aravidu
% Aravidu, Thuluva, Sangama,. Saluva
4. Sangama. Aravidu, Saluva, Thuluva
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Question Number : 54 Question Id : 39226612174 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0



The book ‘A History of British India’ was published by

1. William Jones
2 William Adam
3. James Mill

4. Charles Wood
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Question Number : 55 Question Id : 39226612175 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
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Identify the correct matching regarding the cultivators and
their cultivated area of Indigo

1. The French - Argentina

2 The Spanish — The Caribbean 1slands

3. The English - Venezuela

4. The Portuguese - Brazil
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Question Number : 56 Question Id : 39226612176 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A young soldier who was hanged for attacking his officers in

Barrackpur
1. Nana Saheb
2. Kunwar Singh

Tantia Tope

'S

4. Mangal Pandey
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Question Number : 57 Question Id : 39226612177 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The book which refused ‘the doctrine of the divine and
absolute right of the monarch”™ was

i Two Treatises of Government
2. The Spirit of Laws

3. Social Contract

4. The Prince

orS8E0 BHEERD, OB DEGHRD DEFoE™'Y) Po&oDS
(=

PR
L & (B35S & AsgRoos
2. 8 ?»:Daég esD oo
3. FiS sogrs
4. B RY)
Options :
1.¢1
2. %)
3.% 3
4.% 4

Question Number : 58 Question Id : 39226612178 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Russia made a peace treaty at “Brest Litovsk™ with this country

1. [taly
2 Britain
5 5 Germany
4, Austria
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Options :
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Question Number : 59 Question Id : 39226612179 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The slogan ‘One people, One empire and One leader’ was

given by

k. Lenin
2. Hitler
3. Stalin

4. Napoleon
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Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the correct one regarding the local names of shifting
cultivation

A Central America — Chena

B. Srilanka — Nevad

C South East Asia — Lading

1. A is correct B & C are wrong

2 B is correct A & C are wrong

3. C 1s correct A & B are wrong

4. B is wrong A & C are correct
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Question Number : 61 Question Id : 39226612181 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Pastoralists in the Rann of Kutch are called
1. Maldhari

2. Raikas
3 Monpas
4. Guyjars
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Question Number : 62 Question Id : 39226612182 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Napalam’ is a

1 A deadly bomb

2, A chemical that destroys the plants
3 Pesticide

4. Insect
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2. %)
3. %3
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Question Number : 63 Question Id : 39226612183 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He was NOT a member of states Re-organisation commission
of 1953

1. Fazi Ali

2. C. Rajagopalachari
3. K.M. Panikkar

4, Hridaynath Kunzru
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Number : Yes
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Bharatiya Lok Dal party was mainly functioning in this state
1. Mabharashtra

2. Madhya Pradesh

3. Uttar Pradesh

4. Bihar
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Question Number : 65 Question Id : 39226612185 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

T apologize to the Sikhs and the entire Indian for the incident
that happened in 1984™ said by

1. Vajpayee

2. P.V. Narasimha Rao

3. Manmohan Singh

4. Narendra Modi
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Options :
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Question Number : 66 Question Id : 39226612186 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Bead making industries of Indus valley civilization have been
found at

1. Harappa, Mohenjodaro

% Chanhudaro. Lothal

3. Harappa. Rangapur

4, Mohenjodaro. Surkotada
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Bayyaram inscription was issued by
i Rudradeva

2, Ganapathideva

3 Mailamba

4. Rudramadevi
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Correct Marks : 0.5 Wrong Marks : 0



The village officer who acted as a link between the king and
the villages during the Badami Chakukyas was called as

Gamunda
2, Gramani
3. Gramapalika

4, Udankuttam
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Number : Yes
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This one is the incorrect statement regarding the Opium wars
L. These wars were fought between China and Britain

2. Though China won the First Opium war, it was
completely defeated in the Second Opium war.

fsd

The Second Opium war came to an end with the treaty
of Peking.

Spain. Holland. England continued their trade from
‘Canton’” port
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Question Number : 70 Question Id : 39226612190 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The United Nations Charter was drawn up in this Conference

b Moscow

2. Washington

3 Dumbarton Oaks
4. Sanirancisco
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Question Number : 71 Question Id : 39226612191 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This was the Extension of ‘“Truman Doctrine’
1. Maltov plan
2. Warsaw pact
3. Brussels treaty
4. Marshal plan
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2. %)
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Question Number : 72 Question Id : 39226612192 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s the false statement of the report of the committee
examined the Social, Economic and Educational status of
Muslim Community in 2005

1. The committee was chaired by Justice Rajindar Sachar
2 The committee identified that Muslims had developed
in all fields.

T

25% of Muslim children in the 6-14 year age group
have never been enrolled in School

4. The average years of Schooling for Muslim children
between the ages of 7-16 1s much lower than other
communities
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Correct Marks : 0.5 Wrong Marks : 0

The practice of Sati Sahagamanam was banned in the year
2B BIHLSOM TR0 VOSSO

1. 1829

2. 1929

3 1839

4. 1939

Options :
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3.%3
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Question Number : 74 Question Id : 39226612194 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Draft Constitution of India contains

1. 315 Articles. 12 Schedules

2. 395 Articles. 8 Schedules

3. 315 Articles. 6 Schedules

4. 315 Articles. 8 Schedules
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Question Number : 75 Question Id : 39226612195 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Find the odd one regarding fundamental duties from the given

below

1. Strives for Excellence

2. Defend the country and render National service
3. Provides opportunities for Education

4, Right to Education and Culture
(FEDE b $owoPod 08 FBSE” Yo &) TA

15803506,
1. 9;92;1135@@ =%0 gﬂ}a A0
2. O¥ns G3ocoer $Hddin SOSLp @3 RSB
3. 2@5;33“%’;1:«:@&’0 E@JOi‘béj
4. ﬁ}a“é-é"o“@bg@ﬁ .‘;Ffob_
Options :
1. ¥ 1
2. % )
3.% 3
4.¥ 4

Question Number : 76 Question Id : 39226612196 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Not a member of Indian Constituent Assembly
1. Mahatma Gandhi
2. Sarojini Naidu
3. Somanath Lahiri
4. Durgabai Deshmukh
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Question Number : 77 Question Id : 39226612197 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the incorrect statement about Grama Sabha

1. Grama Sabha constituted with sarpanch and ward
members

a. This 1s the symbol of direct democracy

It 1s expected to review the functioning of the Grama
Panchayat

sd

4, It 1s presided over by the sarpanch of the village
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Question Number : 78 Question Id : 39226612198 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Financial bills should be introduced in the Legislative
Assembly with prior approach of the

1. Speaker

= Chief Minister

3. Governor

4. President
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Question Number : 79 Question Id : 39226612199 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the correct statement about the Lok Sabha
constituencies in India

A. General Constituencies in Lok Sabha are 412
B. Reserved Constituencies for SC’s are 94
59 Reserved Constituencies for ST’s are 47
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Options :
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Question Number : 80 Question Id : 39226612200 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



It has the power to interpret the Constitution of India

L. Supreme Court
2 High Court
3 Parliament

4, Supreme Court and High Court
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Options :
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Question Number : 81 Question Id : 39226612201 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Find the correct statement regarding the appointment of
supreme court, High court Judges from the given below

1. The Prime Minister appoints on the advices of the
President and in consultation with the Chief Justice of
India.

2. The President appoints on his own.

i Supreme Court Chief Justice appoints.

e

The President appoints on the advices of the Prime
Minister and in consultation with the Chief Justice of
India.
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Question Number : 82 Question Id : 39226612202 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The silent valley movement is related to this place

1. Westernghats in Kerala

2 Narmada Valley in Gujarat

3. Garwal Himalayas in Uttarakhand

4. Damodar Valley in West Bangal
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In the arms race. the main competitors of USA and USSR
began talks to cut their nuclear arsenal from the treaty of
‘START" in 1991. ‘START" stands for.

Strategic Arms Revolution Treaty

1
2 Strategic Arms Resolution Treaty

L]

Strategic Arms Reduction Treaty

4, Single Treaty on Arms Reduction of Talks
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Question Number : 84 Question Id : 39226612204 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the final judgement that was given by the Supreme
Court regarding the case of Subhash Kumar Vs State of Bihar

(1991)

1. Right to life 1s a fundamental right under Article 22

2 Right to life 1s a fundamental right under Article 21

3 Right to Property is a fundamental right under Article 21
4. Right to property is a fundamental right under Article 22
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Number : Yes
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Aizwal Bench comes under the jurisdiction of
i. Kolkata High Court

2. Allahabad High Court

- Imphal High Court

4, Gauhati High Court
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Question Number : 86 Question Id : 39226612206 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Her efforts led to the formation of a national movement called
‘Navadhanya’ to protect. the diversity and integrity of living
resources, especially indigenous seeds. She is

1. Rajkumari Devi

2. Nandini Harinath
3. Vandana Shiva
4. Archana Soreng
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Correct Marks : 0.5 Wrong Marks : 0



The author of “Law of the Constitution™ was
1. Aristotle

2. Garner

3. Lord Bryce

4, A V. Dicey
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Identify the wrong statement about the characteristics of
Liberty

1. It is the product of Rights
2. It is the manifest in the form of rights

3. It is always boundless and license to do whatever a
person wants

4, It is essential for the realization of human personalities
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Question Number : 89 Question Id : 39226612209 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct answer regarding the events that took place
i Andhra region during the Quit India Movement

A On August 17. a clash took place between police and
students at Hindu college in Guntur.

B. On August 13. about 2000 people besieged the
magistrate’s court in Bhimavaram

. On August 12, in Tenali People attacked railway station
and a passenger rail to Puri was burnt

On August 12, in Chirala, Sub Registrar office was
vandalized
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The rights which are enjoyed by human beings by birth
1. Moral rights

2. Civil rights

R Natural rights

4. Economic rights
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Options :
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Question Number : 91 Question Id : 39226612211 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘Mandamus’ means
L. We command
2 To forbid
By what authority
4. To be certified
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2. %)
3. %3
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Question Number : 92 Question Id : 39226612212 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

First hour of both houses in the Parliament 1s allotted to

1. Zero hour

2. Point of order

3. No Confidence Motion

4. Question hour
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This Article of the Constitution provides a procedure for the
creation or abolition of the Vidhana Parishad

1. Article 165

2. Article 169

3. Article 171

4. Article 179
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In India ‘Road Safety Week' is organized every year in this
month

1. August

Z; September

3. January
4. November
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The characteristic feature of “Situation™, with regards to the
settlements.

1. Connected to other places

X Security

2 Types of Soils

4. Shelter from Natural Forces

AT o sore B2 208 IS "D0RB” So¥). o0

1. 38y PEToS’ &)

on

02080
2. Pes

-3 A
3. DO ST

G

4. @%@%’5}@ So0t) BEe
— it

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 96 Question Id : 39226612216 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following international organisation referred as

“World Bank™
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Question Number : 97 Question Id : 39226612217 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the mismatched pair
i Wheat — Loamy Soil
2. Flax — Golden Fibre
2 Brazil - Roca
4. Shifting cultivation — Slash. Burn
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This refers to a variety of brightly coloured cloth produced
through a method of ‘tying and dying’

1. Chintz
7.4 Jamdani
3. Patola

4. Bandhna
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The term ‘textile’ 1s derived from the Latin word ‘texere’

which means
To weave
2. To Spin
3. To design
4. Dyeing
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Choose the correct statements about PKVY (Pradhan Mantri
Kaushal Vikas Yojana)

i, Its objective is to encourage aptitude towards
employable skills by giving quality training

. It was started in 2014

iii.  Itis aiming to train one crore Indian youth from 2016 to

2020.
L. 1, 11 only
2. 1 only
3 1. 1i. 111 are correct
4. 1, 111 only

Perso@ TS 50 Bras (PKVY)E 0020000 $35

— :I‘\.?q_f /L_ - ﬂ _"\-’.\ -\./.\ = 1 ¥
1 TS0 B5F OO G D IO D& b@jﬂaﬂ%\
I2Ees2rosEo A &dyo.
o) =

ii. 30 20148° |FSodosadod.
iii. 2016 500D 2020 555 56 5008 2PEBAH A0HSKH
: 00 020 u.a@s 5765 000 23 S0 Al003€5%)
3% @0803580 8 X350
()
1 i, Soe(E@Ro
2. iSeERs
3. 1. 11, 111 BOToX
4, 1. 111 ml\g_fa?a.,
Options :
1. %]
2. % )

3.%3
4.9 4

Question Number : 101 Question Id : 39226612221 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Women Literacy rate in India as per 2011 census
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Number : Yes
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Identify the correct objectives regarding National Population
Policy — 2000

a. Imparting free and compulsory School Education up to
14 years of age.

b. Reducing infant mortality rate to below 30 per 1000
live births

& Achieving universal immunization of children against
all vaccine preventable diseases
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Minimum support price 1s declared by the government every

year
1. During the rise of crop

2 Before the sowing season

3. After the harvest of crop

4, On the first Day of the financial year
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Question Number : 104 Question Id : 39226612224 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correctly matched pair

1. Prime Minister Rozgar Yojana (PMRY) - 1999

2. Rural Employment Generation Programme (REGP) - 1993
Swarnajavanthi Gram Swarozgar Yojana (SGSY) - 1995
4. Pradhan Mantri Gramodaya Yojana (PMGY) - 2000
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Question Number : 105 Question Id : 39226612225 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Qiang’ tribes live in

1. Tibet
2 South America
3. Kazakhstan
4. Kenya
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These are needed to get best results from High Yielding
Varities (HYV)

A.  Plenty of water

B. Chemical fertilizers
A Chemical Pesticides
k. A only

Z, B only

4 A.BandC

4, Band C
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If the prices of inferior goods raise then their demand will also
increase. It is called

1. Veblen effect

2. Giffen’s paradox

3 Speculative effect

4. Income effect
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This 1s not the feature of perfect market competition
1. Large number of buyers and sellers

2 Homogenity of the commodities

d

No close substitutes to this goods in the market
4. Absence of transport costs
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The concept of “Quasi Rent’ was first introduced in
Economics by

1. Alfred Marshall
2 David Recardo

3. Adam Smuth
4. Robms
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“Give a man the secure possession of a bleak rock and he will
turn into a garden; give him a nine years lease of a garden and
he converts it into a desert”. This statement was given by

1. Abhijit V. Benerjee
2. T.W. Schultz
Sir Arthur Young

Tad

4, Michael lipton
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Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



It is not a measure that improves the system of agriculture
marketing in India

L. Lack of credit facilities

2 Cooperative marking

3. Contract Farming

4. Warehousing facilities
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According to Morris D Morris. “Physical Quality of life Index”

(PQLI) measures
1. Economic Progress of the community
2 Technology Progress of the community

T

Political Progress of the community
4. Social Progress of the community
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The simplest method of studying dispersion is

1. Lorenz curve

2, Standard deviation

Quartile deviation

4. Range
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He laid foundation to micro finance by establishing a Rural
Bank in 1976

1. S.P. Gupta
2. Mohammad Yunus
M.S. Swaminathan
4. Tendulkar
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Number : Yes
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Choose correct answer regarding exosphere

a. Light gasses like hydrogen. helium are concentrated in
exosphere
b. Due to excess of earths gravitational pull on exospheres

changes may occur in atmospheric composition

C This is also called outer atmosphere
1. a correct. b. ¢ are incorrect
2 b correct. a. ¢ are incorrect
% A a. b are correct. ¢ mncorrect
4, a. ¢ are correct. b incorrect
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‘The Brahma Suthra’s 1s a Sanskrit text, attributed to the sage
Vyasa, It is also known as

1. Dharma Suthra

4 Gnana Suthra

3. Vedantha Suthra

4. Moksha Suthra
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St. Peter’s Basilica is located in this city
1. Vatican City
2. St. Petersburg
3. Bethlehem
4. St. Louis City
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Sanchi Stupa which 1s one of the ancient stupas of central
India was constructed in this century

1.  BCE 4™ Century
2. BCE 5" Century
3 BCE 3™ Century
4. BCE 2™ Century
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Number : Yes
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‘Cuneiform Script’ belongs to this ancient Civilisation
1 Mesopotamia Civilisation
2. Egypt Civilisation

Indusvalley Civilisation

1)

4. China Civilisation
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Identify the mountains according to their heights in

descending order from the given below list

4 Everest, Elbrus, Mc Kinley, Aconcagua
2: Everest. Mc Kinley. Aconcagua. Elbrus
3. Everest. Aconcagua. Mc Kinley, Elbrus

4. Everest. Elbrus. Aconcagua. Mc Kinley
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Number of Questions : 40
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Section Marks : 20
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Sub-Section Id : 392266399
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 39226612241 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 0.5 Wrong Marks : 0



We can do this due to the cost effectiveness attribute of money

1. Transfer of value

2. Estimation of National income

3, Equalization of Marginal Benefits and Productivity
4, Adoption of leverage system
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Question Number : 122 Question Id : 39226612242 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Posters and Puppets are this type of visual tool
L, 2D teaching aids

2 3D teaching aids

2D and 3D teaching aids

4

=

Display boards
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Question Number : 123 Question Id : 39226612243 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The skill to find out the reason behind the high rainfall in the
Western Ghats of India 1s
. Observation skill
2. Geographic mvestigation skill
R Time perception skill
4. Proof using skill
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In this vear Social Science was first introduced in School
Education of United States
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3. 1916
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Question Number : 125 Question Id : 39226612245 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The lines between the two mountains represents the rivers and
the line encircling the sea represents the coastline is

1. Map - language
2. Map - Reading

Map - interpretation

[

4. Map - making
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3. %3
4. % 4

Question Number : 126 Question Id : 39226612246 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Following traffic Signals through direct observation is
1. Knowledge, Understanding

2. Knowledge. Application

(ad

Knowledge, Understanding. Application
4, Knowledge. Understanding, Application. Skill
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Number : Yes
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This is not a characteristic of “Aims’
1. Permanent value
2. Does not change depending on the subject

Temporary value

LS ]

4, Long term achievements
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Question Number : 128 Question Id : 39226612248 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Educational objectives are educational values™ stated by
1 John Dewey

2. Rousseau

Cunningham

4. J.A. Brubacher
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Question Number : 129 Question Id : 39226612249 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the characteristics of values from the given below
a. Concrete
b. Inherent
£ Relative
d. Flexible
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Enjoying the Sculptures. paintings and historical buildings 1s
Creative value
2. Aesthetic value

Moral value

S

4. Vocational value
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Number : Yes
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Factors that should formulate the objectives of Social Science
teaching learning

a. Social factors

b. Economic factors

£ Psychological factors
d. Technical change
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Giving examples, classifying. summarizing. comparing and
differentiating are related to this objective in the cognitive

domain

1. Remembering
4 Understanding
3. Applying

4. Analysing

&SRO JKEO, 50580550, ;o) 30, POTew,
Screo BH)E0 BB oS ¥ BoKoS ) B2 oF§03
= i

PVo2050085D
i Kotk S)SisEo
2. €93 /T™u 05 mPOSED
3. @550&\305650
59 o
4, ﬁgoapuao
Options :
1. % 1
2.2
3. % 3
4. % 4

Question Number : 133 Question Id : 39226612253 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“Using algorithms techniques™ is a

1 Procedural knowledge
2. Conceptual knowledge
3 Metacognitive knowledge

4. Factual knowledge
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Academic standards of Social Science are decided on the basis
of these recommendations

1. NCF - 2005 & APSCF - 2011

2. NEP - 1986 & Secondary Education Committee

3 Kothari Commission & NEP - 1986

4, Secondary Education Commission & Kothari Commission
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Question Number : 135 Question Id : 39226612255 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Education has been included in the concurrent list through this
Constitutional amendment
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Question Number : 136 Question Id : 39226612256 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This approach divides Indian history into ancient. medieval.
Mughal era and post independence

18 Correlation Approach

2. Topical Approach

3 Chronological Approach

4. Spiral Approach
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The teaching steps on the structural unit like Exploration.
Presentation, Assimilation. Organisation, Recitation was

proposed by

1. Henry Morrison
2. Preston

3. Samuelson

4, Gestalt
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“Accepting new ideas based on their importance and
respecting the opinions™ are come under this domain

i Knowledge
2 Attitude

3. Appreciation
4. Interest
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Choose correct answer regarding Edgar Dale cone of

experience.

a. Indirect experiences are also there in addition to direct
experiences.

b. It explains the relationship between visual and auditory
system

C. Concrete experiences arise from abstract experiences

when go from bottom to top

d. Abstract experiences arise from concrete experiences
when go from bottom to top
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According to Joseph J. Weber the percentage of learning
through vision by a student is
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Question Number : 141 Question Id : 39226612261 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The third step among the four steps suggested by John Dewy
to the Problem Solving Approach

1. Collecting information

2. Defining the problem

3. Analysing the problem

4, Coming to a definite opining

Eﬁgwsw mofocos &}5&“2;5 03'(5@ BFED0DS TPeniiy
Frarod [50rEsS0

1. VRTINS ESe

2 ﬁm‘:ﬁg?&a K]Eﬁns{',}oi'icio

3. msﬁvg Sagma

4 KJ%J@% TS TeHE0

Options :
1.v1
2. %2
3.%3



4. % 4

Question Number : 142 Question Id : 39226612262 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

It is not the specific feature of an activity

1. It should impose a challenge

2. No possibility to make changes

3. Helpful to use in multiclass teaching
4. Involves least expenditure
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Identify the incorrect sentence about the values from the given

below

1. According to the aims, values are the results that are
achieved by teaching social science

2. Values reflect realities

3 Values represent Goals to be achieved

4, Values represent expected results
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The skills that supports the scientific learning of Geography

are

a Asking questions

b. Acquiring knowledge

& Arranging knowledge

d. Analysing and explaining knowledge
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Choose correct answer regarding Resource method

a. This method was first introduced in Germany

b. Children are held responsible for collection.
classification and combining resources

43 This method also called laboratory method

d. Children are provided real time resources.
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“Learning without burden™ proposed by
1 Iswar Bhai Patel commuittee
2 Kothari Commission

Radhakrishnan Commission
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Question Number : 147 Question Id : 39226612267 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The number of tools used to assess formative Assessments in
the Schools of Andhra Pradesh is
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Question Number : 148 Question Id : 39226612268 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the Characteristics of a good test from the given
below

a. Validity

b. Language complexity
C. Reliability

d. Objectivity
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Question Number : 149 Question Id : 39226612269 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



It 1s used by teachers to know how much the students
understand the lesson that they taught

1. Examinations
2. Test
3. Sociometry

4. Checklist
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Question Number : 150 Question Id : 39226612270 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“What qualities do you like in Social reformers like
Ambedkar. Jyothi Rao Phule? Why?” comes under this
Academic standard - this question

8 Mapping skill

2. Appreciation and Sensitivity

3 Reflection on contemporary issues
4. Information skall
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Question Number : 151 Question Id : 39226612271 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The need to implement of Continnous Comprehension
Evaluation System 1s encouraged by
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Question Number : 152 Question Id : 39226612272 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The word ‘Learning Disabilities” was first used by

1 John Dewey
2. Kil Patrick

: Samuel Kirk
4. Samulson

OIfOS B0’ &S DY) Iy Iocse B
&ED@BTRODS T

1 :2.‘3""5635“-’503:""
2 Egﬁ"@g
3. -3"55.1:'*55 E’gb-
4. mmégmﬁ
Options :
1. % 1
2. % 2
3.9 3
4. % 4

Question Number : 153 Question Id : 39226612273 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Understanding the velocity of river by observing the smooth
rocks on the banks of perennial river

a. Observation
b. experiment
C. Understanding
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Question Number : 154 Question Id : 39226612274 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



It is the example of an abstract concept

i Tree
2. Library
3 Democracy

4. Assembly
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Question Number : 155 Question Id : 39226612275 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Puppetry 1s a
k. Physical Source
2. Written Source

Unwritten Source

T

4. Secondary Source
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2. %)
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Question Number : 156 Question Id : 39226612276 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Actions to be taken by Parent Teacher Associations are

a. Measures for school and Student progress
b. Development of school physical resources
55 Guidelines for school management

d. Collection and use of teaching materials
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Question Number : 157 Question Id : 39226612277 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The ability of persons to see insights in themselves 1s a

1. Psychological value
2. Disciplinary value
3 Intellectual value

4, Moral value
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Question Number : 158 Question Id : 39226612278 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Students are interested in discussing Social. economic,
political and Civic issues. For example showing interest in
discussing the 1ssue of dowry” comes under this domain

1. Cognitive domain

2 Affective domain

a2

Psychomotor domain

4, Skill development
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Question Number : 159 Question Id : 39226612279 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



NCF - 2005 mainly focuses on

a. Content load

b. Plurality and Local content
C. Scientific outlook

d. Normative duties
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Question Number : 160 Question Id : 39226612280 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



These maps indicate the depth of the Ocean with dark blue and
light blue colours

1. Climatic maps

2. Bathymetric maps

3 Vegetation maps

4. Ethnographical maps
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